


lr%\\\ |

Single Head KT-CAII/KT-CBII & Drop Table KT-S1501CII/KY-CII/KS-C (450X 520/520)

A\ 4 A\ 4 A\ 4 A\ 4
ZFR9109A520A ZFR9112A520A ZFR9115A520A ZFR9118A520A
¢ 9 Omm ROUND ASSY ¢»120mm ROUND ASSY ¢150mm ROUND ASSY ¢»180mm ROUND ASSY
9cm ALK ASSY 12cm AP ASSY 15cm FLFE ASSY 18cm AL ASSY
Parts List
(" N N N )
N\ J J J Y
FR9109A FR9112A FR9115A FR9118A
¢ 9 Omm ROUND ®120mm ROUND ¢®150mm ROUND ¢180mm ROUND
9cm AR 12cm ALfE 15cem ALPE 18cm ALF:

FR605071X2pcs.
QS BRACKET NO.3 R/L
AT 7 H NO.3 fi/ ke

00@

TiT

2000

A9012497X1x12pcs.
PAN SCREW M3x6.7 W/GLUE
PR AN M3X6T B

FR605071X2pcs.
QS BRACKET NO.3 R/L

Y TFTRENO3 fisk AU T RHE NO3 fi/k

90@

TiT

2000

A9012497X1x12pcs.

PAN SCREW M3x6.7 W/GLUE
FEF AR MXG.T HeAiff

FR605071X2pcs.
QS BRACKET NO.3 R/L

00@

TiT

2000

A9012497X1x12pcs.

PAN SCREW M3x6.7 W/GLUE
FERF DAY MBX6.T Hetihf

o
HH

FR605071X2pcs.
QS BRACKET NO.3 R/L
AT 7R H NO.3 fi/ ke

/@O\

N O J

A9012497X1X6pcs.

PAN SCREW M3x6.7 W/GLUE
FERNF AR M3XG.T HeAiff



Baundan

7=\

L 30 . HH
. S 4 "
X \.ll

NV IE FERmiRis T

Single Head KT-CAII/KT-CBII & Drop Table KT-S1501CII/KY-CII/KS-C (450%520/520)

A o\ 4

A 4

ZFR92240240A52A ZFR92300290A52A ZFR92300430A52A

240mmX240mm OBLONG ASSY ~ 300mmx290mm OBLONG ASSY

300mnx430mn OBLONG ASSY

24cmXx24cm A5PIHE ASSY  30ecm<29cm AP ASSY  30cm<43cm KPR ASSY

Parts List
4 N N N
N AN AN J
FR92240240A FR92300290A FR92300430A
240mm><240mm OBLONG 300mm<290mm OBLONG 300mm<430mm OBLONG
24cmX 24cm F5PIRE 30cm* 29cm K5I 30cmx43cm K5I

"
H

S
H

FR605251X2pcs. FR605251X2pcs.
QS BRACKET NO.11 R/L QS BRACKET NO.11 R/L
WY FR&ANOLL 47k KR 7R NOAL A/

/Q @ ) /Q @ )
2 Y ¥
_® e/ _® e/

A80446X6pcs. A80446X6pcs.

4 I N
N\ I J

FR605191X2pcs.
QS BRACKET NO.6 R/L
HiFIRY 7 8E NO6 £i/ )

/Q @ )
2  §
_® e/

A80446 X 6pcs.

Phillips Flat Countersunk Head Screw M3x6 (SUS) - Phillips Flat Countersunk Head Screw M3X6 (SUS) ~ Phillips Flat Countersunk Head Screw M3X6 (SUS)

FERIYThRY M3X6 ATV VA FERETRRY M3X6 ATV VA

FEREFTRRY M3X6 ATV VA



lr/ia\
S
N—2/

Single Head KT-CBII & Drop Table KT-S1501CII/KY-CII/KS-C (450X 520/520)

q
H

FR605151X2pcs.
QS BRACKET NO.4 R/L
iRy 78R NO4 ik

/° @ )
1 r
_® 9

A80446X6pcs.

&5
H

FR605111%2pcs.
QS BRACKET NO.2 R/L
Hik F 2 NO.2 Filk

/e @ )
1 r
9

A80446 X 6pcs.

4 I N
N\ I J

FR605091X2pcs.
QS BRACKET NO.1 R/L
kR 72 H N0 Ak

/° @ )
1 r
A

A80446 X 6pcs.

C O C O C O C O
A\ 4 A\ 4 A\ 4 A\ 4
ZFR92330278A52A 7ZFR92330338A52A 7ZFR92330438A52A ZFR92380438A52A
330mmx278mm OBLONG ASSY ~ 330mnx338mm OBLONG ASSY ~ 330mmx438mm OBLONG ASSY ~ 380mnx438mm OBLONG ASSY
330mmx 278mm KFIFE ASSY  330mmx338mm #5[H ASSY  330mmx438mm #5[IH ASSY  380mmx438mm k5K ASSY

Parts List
4 N N N N
N RN J RN J
FR92330278A FR92330338A FR92330438A FR92380438A
330mmx278mum OBLONG ~ 330mmx338mm OBLONG ~ 330mm<438mm OBLONG  380mm<438mm OBLONG
330mmx 278mm ¥5PI# 330mmx 338mm K5 HE 330mmx438mm 5 380mmx438mm 5 IH

4 I N
N\ I J

FR605091X2pcs.
QS BRACKET NO.1 R/L
w7 RE N0 Ak

/e @ )
1 r
_® 9

A80446 X 6pcs.

Phillips Flat Countersunk Head Screw M3x6 (SUS) - Phillips Flat Countersunk Head Screw M3X6 (SUS)  Phillips Flat Countersunk Head Screw M3X6 (SUS)  Phillips Flat Countersunk Head Screw M3 X6 (SUS)

FEr I TINRY M3X6 ATV VA

FEREFTNRY M3X6 ATV VA

FERETRRY M3X6 ATV VA

FERIFTNRY M3X6 ATV VA



Baundan

7=\

NV IE FERmiRis T

Drop Table KT-S1501CII/KY-CII (450%520/520)

L 30 . HH
. S 4 "
X \.ll

/Q @ )
2  §
_® e/

A80446X6pcs.

/Q @ )
2  §
_® e/

A80446 X 6pcs.

C O C O
A\ 4 A\ 4
ZFR92460304A52S Z7ZFR92460354A52S ZFR92460434A52S
460mmx304mm OBLONG ASSY ~ 460mnx354m OBLONG ASSY ~ 460mmx434mm OBLONG ASSY
460mnx304mm KPR ASSY  460mmx354mm K5P9HE ASSY  460mmx434mm HiFIKE ASSY

Parts List

4 N N N

N RN J J
FR92460304A FR92460354A FR92460434A

460mn<304mn OBLONG  460mmx354mm OBLONG  460mmx434mm OBLONG
460mm X< 304mm #5PHE 460mm X 354mm ¥ 460mmX<X434mm F5 P
4 N N N
N RN J J
FR605520 & FR605510 FR605500 & FR605590 FR605480 & FR605470
QS BRACKET NO.14 L/R QS BRACKET NO.13 L/R QS BRACKET NO.12 L/R
HlPEy 745 NO.14 Je/h HlPEy 74 B N0.13 ek HiMRE 748 BN012 fe/di

/Q @ )
2  §
_® e/

A80446 X 6pcs.

Phillips Flat Countersunk Head Screw M3x6 (SUS) - Phillips Flat Countersunk Head Screw M3X6 (SUS) ~ Phillips Flat Countersunk Head Screw M3X6 (SUS)

FEr I TINRY M3X6 ATV VA

FERETRRY M3X6 ATV VA

FEREFTRRY M3X6 ATV VA



lf/'i\\\
S
N—2/

Drop Table KS-S1512C (450%520/520)

4 )

A 4 A 4

ZFR92460304A52A 7FR92460354A52A 7FR92460434A52A
460mnx304mm OBLONG ASSY ~ 460mmx354mm OBLONG ASSY ~ 460mnXx434mm OBLONG ASSY

FR605151X2pcs.
QS BRACKET NO.4 R/L
iRy 78R NO4 ik

/Q @ )
1 t
_® e/

A80446X6pcs.

FR605111%2pcs.
QS BRACKET NO.2 R/L
Hik F 2 NO.2 Filk

/Q @ )
1 t
_® e/

A80446 X 6pcs.

460mnx304mm KPR ASSY  460mmx354mm K5P9HE ASSY  460mmx434mm HiFIKE ASSY
Parts List
4 N N N
N RN J J
FR92460304A FR92460354A FR92460434A
460mn<304mn OBLONG  460mmx354mm OBLONG  460mmx434mm OBLONG
460mm X< 304mm #5PHE 460mm X 354mm ¥ 460mmX<X434mm F5 P

FR605091X2pcs.
QS BRACKET NO.1 R/L
kR 72 H N0 Ak

/Q @ )
1 t
_® e/

A80446 X 6pcs.

Phillips Flat Countersunk Head Screw M3x6 (SUS) - Phillips Flat Countersunk Head Screw M3X6 (SUS) ~ Phillips Flat Countersunk Head Screw M3X6 (SUS)

FEr I TINRY M3X6 ATV VA

FERETRRY M3X6 ATV VA

FEREFTRRY M3X6 ATV VA



Baundan

Single Head KT-CAII/KT-CBII & Drop Table KT-S1501CII/KY-CII/KS-C (450%520/520)

NV IE FERmiRis T

Oblong ASSY P=520mu Blue Frame Bracket Screw KT-CAIl | KT-CBIl | KT-CII KY-CIt KS-C

¢ 9 0mn|ZFR9109A520A FR9109A FR605071 X 2pcs. A9012497X1 X 12pcs. O O O O O

¢ 1 2 0mm|ZFR9112A520A FR9112A FR605071 X 2pcs. A9012497X1 X 12pcs. O O O O O

¢ 1 5 0mm|ZFRI115A520A FRI115A FR605071 X 2pcs. A9012497X1 X 12pcs. O O O O O

¢ 1 8 0mm|ZFR9118A520A FR9118A FR605071 X 2pcs. A9012497X1 X 6pcs. O O @) (@) O

24 0mmX 2 4 0nm|ZFR92240240A52A |FR92240240A [FR605251 X 2pcs. A80446 X 6pcs. O O @) (@) O

300mmX 29 0mm|ZFR92300290A52A |FR92300290A [FR605251 X 2pcs. A80446 X 6pcs. A O O O O

30 0mmXx 4 3 0nm|ZFR92300430A52A |FR92300430A [FR605191 X 2pcs. A80446 X 6pcs. \ O O O O

33 0mmX 2 7 8mm|ZFR92330278A52A [FR92330278A |FR605151 X 2pcs. A80446 X 6pcs. O O O O

33 0mnx 3 3 8mm|ZFR92330338A52A [FR92330338A |FR605111 X 2pcs. A80446 < 6pcs. O @) (@) O

33 0mmX 4 3 8mm|ZFR92330438A52A |FR92330438A [FR605091 X 2pcs. A80446 X 6pcs. O O O O

38 0mmX 4 3 8mm|ZFR92380438A52A |FR92380438A (FR605091 X 2pcs. A80446 X 6pcs. O O O O
46 0mnx 3 0 4mm|ZFR92460304A52S [FR92460304A [FR605510 & FR605520 [A80446X6pcs. <& &
46 0mmXx 35 4mm|ZFR92460354A52S [FR92460354A |FR605490 & FR605500 [A80446 X 6pcs. & <&
46 0mnx 4 3 4mm|ZFR92460434A52S [FR92460434A |FR605470 & FR605480 [A80446 X 6pcs. & &

46 0mmX 3 0 4mm|ZFR92460304A52A |FR92460304A (FR605151 X 2pcs. A80446 X 6pcs. <&

46 0mmX 3 5 4nm|ZFR92460354A52A |FR92460354A [FR605111 X 2pcs. A80446 X 6pcs. <

46 0mmXx4 3 4mm|ZFR92460434A52A [FR92460434A |FR605091 X 2pcs. A80446 X 6pcs. <&

¥ /\: The vertical embroidery area is up to 2 5 0mm which is the effective embroidery area of KT-CATI.

%\/: The embroidery field size is KT-CATI, effective embroidery area upto 250mm X4 0 Omm .

¥[]: The vertical embroidery area is up to 3 6 Omm which is the effective embroidery area of KT-CBIIL.

%<1 The vertical embroidery area is up to 4 5 Onm deep, which is the effective embroidery area of KT-CII / KY-CII ~ KS-C.

Some embroidery attachments limit the effective embroidery field size of the blue frames for finished products.

KA T THRDR L SiEik KT-CA I BRRSERDITE 2 5 0mETTY,
52 R Lo S BB KT-CA TG SHARMBETRE 2 5 0mn X 4 0 0mETT,
%0 e THEOR Lo > EEIE KT-CBIENRREROETE 3 6 0mETTT.

O fe THBEOR] L S EEEIE KT-CIL,/ KY-CIL / KS-C BRMEEREOERITEL 5 0MmE TTT,

Rl D72y FAY MK O TITERMBRDEN TR L w SEEZFIRLET,




A\

tr/ia\ |

Single Head KT-CAII(250X250) & Drop Table KT-S1502CII /KY-CII/KS-C (450 380/380)

FR605051X2pcs.
QS BRACKET P=380 R/L
AR 74 H EHH380m £/

Y YY)

TiT

2099

A9012497X1x12pcs.

PAN SCREW M3x6.7 W/GLUE
FERNFANRY M3XGT At

FR605051X2pcs.
QS BRACKET P=380 R/L
AR 785 $HAI380mm £i/7:

00@

TiT

20@9

A9012497X1x12pcs.

PAN SCREW M3x6.7 W/GLUE
FEF AR MBXG.T oA

FR605051X2pcs.
QS BRACKET P=380 R/L
AR 74 H EHH380m £/

Y YY)

TiT

2099

A9012497X1x12pcs.

PAN SCREW M3x6.7 W/GLUE
FEF AR MBX6.T Herihf

A\ 4 A\ 4 A\ 4 A\ 4
ZFR9109A380A ZFR9112A380A ZFR9115A380A ZFR9118A380A
¢ 9 O0mm ROUND ASSY ¢120mm ROUND ASSY ¢150mm ROUND ASSY ¢»180mm ROUND ASSY
9cm ALK ASSY 12cm AP ASSY 15cm FLFE ASSY 18cm AL ASSY
Parts List
4 N N N )
N NG NG NG J
FR9109A FR9112A FR9115A FR9118A
¢ 9 Omm ROUND ®120mm ROUND ¢®150mm ROUND ¢180mm ROUND
9cm AR 12cm ALfE 15cem ALPE 18cm ALF:

=5
B

FR605051X2pcs.
QS BRACKET P=380 R/L
AR 785 $HAI380mm 47/

f@o\

e 9

A9012497X1X6pcs.

PAN SCREW M3x6.7 W/GLUE
RN AR MXG.T HeAiff



Bandan

@ 1IVEVHE SREHHE B

Single Head KT-CAII(250X250) & Drop Table KT-S1502CII /KY-CII/KS-C (450 380/380)

A o\ 4

ZFR92240240A38A ZFR92300290A38A
240mm X 240m OBLONG ASSY ~ 300mnx 290mn OBLONG ASSY
24cmx24cm M5IPE ASSY  30emx29cm F5PI#E ASSY

Parts List
4 N N
N AN J
FR92240240A FR92300290A
240mm><240mm OBLONG 300mm<290mm OBLONG
24cmX 24cm K5HIRE 30cm < 29cm K5I

/I\/I\
\I/\I/

FR605191X2pcs. FR605191X2pcs.
QS BRACKET NO.6 R/L QS BRACKET NO.6 R/L
Ry 7R NOG £i/ke KR 7RHNO6 fi/fe

e ® ) /Q *

TR U,
_ B Y 8V
A80446X6pcs. A80446X6pcs.

Phillips Flat Countersunk Head Screw M3x6 (SUS)  Phillips Flat Countersunk Head Screw M3)6 (SUS)
TR 7Y M3X6 ATV VA TR 7MY M3X6 A7V VA




i ) b
NP’

Drop Table KT-S1502CII/KY-CII/KS-C (450%380/380)

A8 4

RA730440 (ASSY)
330mn 278m OBLONG ASSY

330mn X 278mm K5I ASSY
Parts List

4 )

N J

FR92330278AC (P=380)
330mnX278mm OBLONG P=380
330mm X 278mm H5FI#: #HHI380mn

4 l )
\_ I J

FR605091X2pcs.
QS BRACKET NO.1 R/L
kR 7R E N0 Ak

T a )

&
M |

TR
\§ ® J
A80446X6pcs.

Phillips Flat Countersunk Head Screw M3x6 (SUS)
TR 7Y M3X6 ATV VA




Baundan

NV IE TERmiRis T

Drop Table KT-S1502CII/KY-CII (450X380/380)

' N
A 4
ZFR92460304A38S

460mx 304m OBLONG ASSY
460mnx 304mn F5HIFE ASSY

Parts List
4 )
\ J

FR92460304AC P=380
460mmx 304mm OBLONG P=380
460mmx 304mn KiFIH: EHH380mn

[ )
N\ J
FR605480 & FR605470

QS BRACKET NO.12 L/R
ik 7R NOA2 e/t

T @ )

&
M |

4 L °
\§ ® J
A80446X6pcs.

Phillips Flat Countersunk Head Screw M3x6 (SUS)
TR 7Y M3X6 ATV VA




i ) b
NP’

Drop Table KS-51512C/KS-51515C/KS-51518C (450<380/380)

4 )
A 4
ZFR92460304A38A

460mx 304m OBLONG ASSY
460mnx 304mn F5HIFE ASSY

Parts List
4 )
\ J

FR92460304AC P=380
460mmx 304mm OBLONG P=380
460mmx 304mn KiFIH: EHH380mn

4 I )
\_ I J

FR605091X2pcs.
QS BRACKET NO.1 R/L
Ry 7R E N0 Ak

T a )

&
M |

TR
\§ ® J
A80446X6pcs.

Phillips Flat Countersunk Head Screw M3x6 (SUS)
TR 7Y M3X6 ATV VA




Baundan

Oblong ASSY P=380mn Blue Frame Bracket Screw KT-CAIl | KT-CII KY-CII Ks-C

¢ 9 0mm|ZFR9109A380A FR9109A FR605051 X 2pcs. A9012497X1 X 12pcs. O O O O

¢ 12 0mm|{ZFR9112A380A FR9112A FR605051 X 2pcs. A9012497X1 X 12pcs. O O @) O

¢ 15 0mm|{ZFR9115A380A FR9115A FR605051 X 2pcs. A9012497X1 X 12pcs. O O O O

¢ 1 8 Omm|ZFR9118A380A FRO118A FR605051 X 2pcs. A9012497X1 X 6pcs. O O O O

240mmX 24 0mm|ZFR92240240A38A [FR92240240A FR605191 X 2pcs. A80446 X 6pcs. O O O O

300mmX 29 0mm|ZFR92300290A38A [FR92300290A FR605191 X 2pcs. A80446 X 6pcs. v O @) O

33 0mmX 2 7 8mm{RA730440 (ASSY) FR92330278AC FR605091 X 2pcs. A80446 X 6pcs. w ¥ DA
460mmXx3 0 4mm|ZFR92460304A38S [FR92460304AC FR605470 & FR605480 |(A80446 X 6pcs. & &

460mmXx3 0 4mm|ZFR92460304A38A [FR92460304AC FR605091 X 2pcs. A80446 X 6pcs. &

%\/: The embroidery field size is BEKT-CATI, effective embroidery areaupto 250mm X250mm.

¢! It's made to order with a dedicated product for P=38 Omm .

%< The vertical embroidery area is up to 4 50mm deep, which is the effective embroidery area of KT-CTI, KY-CII~ KS-C.
Some embroidery attachments limit the effective embroidery field size of the blue frames for finished products.

XN/ RIL w DEEEIG BEKT-CATI BXRIFEER 2 50mn X 2 5 0mmE TTY,

¥¥¢:i P=3 8 OmmADERRICN. BFEETY,
X0 e TAADR L SEEIE KT-CIT ./ KY-CII,/ KS-C BREEEDEITEAL 5 0mmE TTT,
Rl D72y FAYMIKO>TIETZREEDENER L DEEEFRLES,




1O

Blue Frame Base Board & Framing Up Boards — &SRS - #3RiR

Blue Frame Base Board

ks

Framing Up Board

R

There are various embroidery sizes of
framing up board that can be easily replaced,
making embroidery work more efficient.

WAAGRILw 54 XDRERIED B Y .
BT TE S8,
L DEEDIRMICIZY T,

Parts List

Blue Frame Base Board

Used Passive Size (D X W < H)

Used Max Active Size (DX W X H)

FR730001 700mX350mxX15 1mm 583mmxX512mmX 57 0nm
Oblong Type Framing Up Board Item Size (L X W X H) Oblong Type Framing Up Board Item Size (L X W X H)
¢ 9 0mm|{FR7309 175mX150mmX 9mn 330mmXx 2 7 8mm{FR73330278 430mx37 0mmx9mm
¢ 12 0mm|FR7312 200mmx 17 5mmX 9mn 33 0mmX 3 3 8mm|FR73330338 430mx430mmX 9mm
¢ 15 0mn|FR7315 230mX 20 0mnx 9mn 33 0mmX 4 3 8mm|FR73330438 430mx530mmXx 9mn
¢ 18 Omm|{FR7318 275mx250mmXx9mm 38 0mmx 4 3 8mm|FR73380438 470mXx530mmXx 9mm

240mx 24 0mm

FR73240240

400mmX 3 8 0mnx 9mn

460mx 30 4mm

FR73460304

555mxX 40 0mmXx 9mm

300mmXx 29 Omn

FR73300290

400mmXx 38 0mmX 9mn

460mmx35 4mm

FR73460354

555mXxX450mmX 9mn

300mmX4 3 Omn

FR73300430

400mXx520mmX 9mn

460mx4 3 4mm

FR73460434

580mXx54 0mmX 9mn




Bandan

77N\

NV IE TERmiRis T

. 31 . HH
1 ) Bl
N\ 2/

Framing Up Board — #3:3EiR

-

N\

~

J

FRAMING UP BOARD ¢90 ROUND FRAME
Prilibie 90 ALKHH AR

FR7309

-

N\

~

J

FRAMING UP BOARD 240 240 OBLONG FRAME
Prigt 240X 240 KEPIFYH A

FR73240240

-

N\

~

J

FRAMING UP BOARD 330278 OBLONG FRAME
Rk 330X 278 KR AR

FR73330278

-

N\

~

J

FR73460304

-

N\

~

J

FRAMING UP BOARD 9120 ROUND FRAME
MEEM 0120 ALHYH ASY

FR7312

-

N\

~

J

FRAMING UP BOARD 300290 OBLONG FRAME
FHER 300290 KRy ABd

FR73300290

-

N\

~

J

FRAMING UP BOARD 330338 0BLONG FRAME
Feakti 330338 HilIHHI AR

FR73330338

-

N\

~

J

FR73460354

-

N\

~

J

FR7315

FRAMING UP BOARD 150 ROUND FRAME
Pkl 9150 LR ARBY

-

N\

~

J

FR73300430

FRAMING UP BOARD 300430 OBLONG FRAME
Peifib 300X430 HIRER] AR

-

N\

~

J

FR73330438

FRAMING UP BOARD 330438 OBLONG FRAME
Reilibi 330x438 Kk AK

-

&

~

J

FR73460434

-

N\

~

J

FR7318

FRAMING UP BOARD 9180 ROUND FRAME
PR 0180 ALk A%

N\

J

FR73380438

FRAMING UP BOARD 380438 OBLONG FRAME
Rl 380x438 Kk AR

FRAMING UP BOARD 460 304 OBLONG FRAME
PEER 460X 304 K5IREH] Ay

FRAMING UP BOARD 460 354 OBLONG FRAME
Peolbi 460x 354 KPR A%

FRAMING UP BOARD 460434 OBLONG FRAME
Feilibi 460X434 REFIRER] AR



I’y 4

=t I\/IL9 >~

2023-10-23-A



